
Line Graphs Mark Scheme 

1

All six data points plotted correctly [1]

Straight line connecting each point [1]

2(a) Ice cream sales in August: £170 [1] Allow £170 ± 2

2(b)
Highest income = £210 ± 2
Lowest income = £105 ± 2

[1]

Range = £210 − £105 = £105 ± 4 [1]
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All six data points plotted correctly [1]

Straight line connecting each point [1]
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All data points plotted correctly [1]

Straight line connecting each point [1]

Turn over ►

0

2

4

6

0

8

10

S
p
e
e
d
 (

m
p
h
)

Time (minutes)

4 8 12 16 20 24 28 32 36 40



5

All data points plotted correctly [1]

Straight line connecting each point [1]
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